Name: Date:

Teacher: Class:

Multiplication 408

What did the zookeeper say when she saw four elephants
in sunglasses coming over a hill? Nothing. She didn't
recognize them.

Multiply these numbers.

1. 9gx2-= 18. 9 x 12 = 3. 9gx7 =
2 9x8= 19. 9 x 11 = 3. 9xQ=
3. 9x10 = 20, 9 x 1= 3. 9x@B=
4. gx5= 21. 9 x 3 = 38. Qx4 =
5 9x10 = 2. 9x@= 39. 9gx7 =
6. 9x9Q= 23. 9 x 3= 4. 9 x 12 =
7. 9x2= 4. 9 x1= 4. g x 3=
8 Qx4= 25. 9 x11 = 42. 9 x10 =
9. g x4= 26. 9 x2 = 43. g x 5=
10. 9gx7 = 27. 9 x 12 = 4. g x 8=
1. 9gx7 = 28. 9 x 1= 45. 9 x Q=
12. gx B = 29. 9gx11= 46. Qg x 3 =
13. gx 2= 3. 9gx5= 47. 9 x @ =
4. g x12= 3. 9 x10 = 48. 9 x 8 =
5. 9gx 9= 2. gx4= 49. g9 x 1=
16. 9 x 3= 3. gx§= 50. 9 x @ =
7. 9x2= 3. 9x12=
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Answer Key

Date:

Teacher:

Class:

Multiplication 408

What did the zookeeper say when she saw four elephants
in sunglasses coming over a hill? Nothing. She didn't

recognize them.

Multiply these numbers.

L 9x2=18 18 9 x12=108 3% 9x7=063
2. 9x8=172 19 9x11=99 3% 9x9=281
3 9x10=90 0. 9x1=09 3. 9x6=54
4 9x5=145 2. 9 x3 =27 8. 9x4=36
> 9x10=90 22 9x6=54 3% 9 x7=63
6 9x9=281 23 9 x3=27 40. 9 x12=108
 9x2=18 4. 9x1=9 4. 9 x3=27
8 9Ox4=36 25 9x11=99 42 9x10=90
% 9x4=36 6. 9x2=18 43 9x5=145
10. 9 x7=263 2. 9 x12=108 4. 9x8=72
19 x7=263 8. 9x1=9 4. 9 x9=381
129 x6=54 29 9 x11 =99 4. 9 x 3= 27
13- 9x2=18 3. 9 x5=45 4. 9x6=>54
4. 9x12=108 3. 9x10=90 8. 9x8=72
15. 9X9:81 32. 9X4:36 49, 9)(1:9
16. 9 x3=27 38 9x5=145 0. 9 x6 =54
7. 9x2=18 3. 9x12=108

© Facilitators Ferriswheel WS#:Mult408 Score:



